
Cosmic Distance Ladder

= succession of methods by which astronomers 
determine the distance to celestial objects



Parallax

1Au

1 pc
= 100 = 1arcsec
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Def. Parsec:

With the Hubble telescope: Can reach up to 
5000 parsec.

1 pc =3.26 lyr

= 3.09 · 1016 m
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Hertzsprung-Russell diagram

„Main sequence stars“ 
have a known relation 
between temperature 
(spectral class) and 

luminosity!



Main sequence fitting



Cepheids = periodically pulsating stars

Known luminosity (when 
period is measured) 

Standard 
candle





Supernovae of Type Ia








